
NOM Prénom ………………………………………………………              3ème 

Calcul littéral, correction 

Exercice 

Calculer les expressions algébriques suivantes : 

𝐴 = 4𝑥 + 5 − 𝑥2, 𝑝𝑜𝑢𝑟 𝑥 = 3    𝐵 = −3𝑥 + 6𝑥 + 2𝑥2, 𝑝𝑜𝑢𝑟 𝑥 = −1 

𝐴 = 4 × 3 + 5 − 32     𝐵 = −3 × (−1) + 6 × (−1) + 2 × (−1)2 

𝐴 = 12 + 5 − 9     𝐵 = 3 − 6 + 2 

𝐴 = 8       𝐵 = −1 

 

𝐶 = 2(𝑦 − 𝑦2) + 2𝑦, 𝑝𝑜𝑢𝑟 𝑦 = −3   𝐷 =
5(−𝑑)2

3𝑑−𝑑3
 , 𝑝𝑜𝑢𝑟 𝑑 = −2  

𝐶 = 2 × (−3 − (−3)2) + 2 × (−3)  𝐷 =
5(−(−2))2

3×(−2)−(−2)3
 

𝐶 = 2 × (−3 − 9) + (−6)    𝐷 =
5×4

−6−(−8)
 

𝐶 = 2 × (−12) − 6     𝐷 =
20

2
 

𝐶 =  −24 − 6     𝐷 = 10 

𝐶 =  −30  


